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Please make sure that the printed pages in this questzon paper are 16 in number.
and it contains 38 questions.
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The Code No. on the top of the question paper should: be written by the candidate
~ on the front page of the answer-book. ;

o« TV IT F G MG gE BT @ e mawmmw‘?f@?
Before beginning to answer a question, its Senal_ Number must be written.

o GTCYRTE & 7.7 @Il g/ 9 T 8

Don’t leave blank page/pages in your answer- book

. Wg%w%&n%ﬁw#amsﬁ?aﬁwf 7T mwﬁ%aﬁ?ﬁa@aﬁ?v
e

Except answer- book no extra sheet ‘will be gwen Write to the point and do not
strike the written answer.
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-Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don't make any mark on answers of objective
type questions.

e myﬁwaﬁ?é&#y%gﬁﬁﬁwa}%wvwﬁaaﬁ? W%‘WWI
T F G o) qa e TE R T

Before answering the question, ensure that you have been supplied the correct and
complete questzon paper, no claim in this regard will ‘be entertained after

exammatwn
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T [385T -

Frileiar (739 & qgq a@ar @ aRy oiv GE G&Eh & TaT He -

(i) 5??9??—‘?7’3?7’&’@“3_:% g 7 g7 T & TIF G A & G, g5 a7 7
HTRE fawe7 &

(ii) @"3;;#12 TGIHIT 49, 6 TGTT FIT T 2 #@WWW?‘?HW?l

/

(i) G G T 5 o Tgadia (VSA) FT % F97 & ford @ 99% 2 9% A &l

(iv) G T 7 6 TG (SA) FEY B 797 & fo @ q9% 3 oF A &

(v) @ G T4 Hf T (LA) 557 % 597 & P @ 59% 5 3F F &

(i) @ & 7 FTGT & @T 3 W ERal G GpEa yT & G # 569w
4 9% F &l |

(vii) Fo7-97 7 @77 A%y TE R 7w & 7@, ave ‘@ 2 gea i @ T 2 g9

Fgw & qf qod § onans [T & AT Rar T &

(viii) BT F TYAT AT &

General Instructions :

Read the following instructions very carefully and strictly follow them: :

(i)  This question paper contains five Sections : A, B, C, D and E. Each Section
'is compulsory. Flowever, there are internal choices in some questions. |

(i) Section 'A' has 12 MCQ's, 6 Objective Type Question and 2 Assertion-
‘Reason based questions of 1 mark each. '

_ (iti) Section 'B' has 5 Very Short Answer (VSA) type questions of 2 marks each.

(iv) Section 'C' has 6 Short Answer (SA) type questions of 3 marks each.
(v) - Section 'D' has 4 Long Answer (LA) type questions of 5 marks each.

(vi) Section 'E' has 3 source based/ case based questions of 4 marks each with

sub-parts.

" (vii) There is no overall choice. However, an internal choice has been provided

in 2 questions in Section 'B', 2 questions in Section 'C’, all questions in

Section 'D'.

(viii) Use of calculator is not permitted.
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-
SECTION - A

Answer the following objective type questions :

1.

AW A={1,8,4,56), B=(2,4,6.7, 8. % A-BY:

(A +=1,-1,-2,-2,-y - (B) {1,3,8 |
(O 2,785 T S e R
lfA*'13456B '24678,,thenA Bis:
A) 1, - 222 £7 %, B (1,3,5
(C) 2,7, 8} Lk e SR "'(Dj-_ None of these
ﬁﬁ={1',2}aﬂf{8={l3,4};ﬁAxB%:_- R 5 1
(A) . {8 4, 6 8T D gy i
S @ (13,14, 29, @4 (D) AR
IFA= {1, Q}andB {3, 4}, then Ax Bis: '
() {3, 4,6,8) B B8
S (1,3),(1,4), 2, 3), (2,4} (D) Noneof these -
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100cmi=-:mra@gﬁ%%wzzcmmﬁﬁmwmﬁmﬁ%ﬁm%

FEAR U v r(E) 08

(C) $2dp 10f. . o Va5 SNSRI () T 0e 86
Degree measure of the angle subtended at the centre of a circle of radius

100 cm by an arc of length daicmis . -
L {A) 1206k s 3 (B) 0'?2"

'(C) 24° 12" S St (] 12°36

i 241?5@01%&33%% i - 1
| R 5 B 7 - 241 | :

(A) 7 +24i . (B) oo

© 2R @) AR

T e T T e o e e R R AT R B B T L e LT N P [T T T L T o TP LI TS A O PR
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Multiplicative inverse of 7 — 241 is :

A) 7+24i _ (B) f—aht
| 2
7 +241 ' .
(C) o= : . - (D) None of these

5,th&aswmmmﬁsaﬁﬁﬂﬁmﬁ@ﬂiﬁﬁ%amﬁmﬁw%%%:
bs . = | e . .
(&) 120. " R | 100
©) 60 5 S LT ) e
‘The nﬁmber ofl 3 digit numberé.- formed by usiﬁg digits O, 1,_2, 3, 4, 5, when .no
" il i fepRte A T | ', o
(A) 120 f_ | ®) 100

© 60 Cugowh | "~ (D) 720

6_.qﬁﬁ?ﬁfjﬂﬂﬁi%@ﬂ%ﬁwwmeﬂrwwwz%ﬁﬁmaﬁ@ﬁ%: i

1 s
A) — B) 2
(A) 2 (B) | |
(21 - MG T (D) FEHAB T
If third term of a G. P. is 24 and 6th term is 192, then its common ratio is :
1 L. . . : . . .
A) = ; sl . B) 2
(C) 6 ' : ' (D) "None of these
7. o & B dEmel @ aiaT Wed A ORI WA G ¥, A 1
&y A=G " v .. B) A=G
(C) A>G - (D) 3 & FL3 T&
If the Arithmetic mean of two different numbers is A and Geometric mean is G,
then s . _ - ' '
A) A<G (B) A=G
(C) A>G | | (D) None of these
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| (5)
Lim XL oy
‘ (A) ";- | L vt - (B) 0
©) o | (D) uRwRE T R
m TSl ' '
(A) % _ (B) 0
(C). % _ (D) Not defined
sinxcosxﬁx%ﬂﬁﬁmﬁ%i |
(A) —cosxsinx (B) sin?x-cos®x. =
(C) - cos? x+§in2'x (D) 3?1?[ ° Pig 7 |
The derivative of sin x cos x w. r. t. xis : | |
“(A) - cos xsin x '_ " (B) sin® x ~cos? x
(C) | cos? x —sin? x (D) Noné of these

TEett 5, 8, 9, 10, 11,'13, 14, 18 &l e (Mean) & H1ed e &
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(A 2.5 T : g B) 3
(€ -85 " . 1o foake T | D)4

Mean Deyiation about mean of 5, 8,9, 10’..11" 13,14, 18_is :

) 28 Lo - B 3

(C) 35 Tt D) 4 |

Iy iR Fam-czrvﬁ mfi%aﬁi P(E):g eih pgﬁj;é, FIPAEUATATY :
B s X7 e
w2 | B

- © 535- i ' - (D) T & B T
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13.

14.

" 18,

(6)

If E and*F are mutually exclusive events -P(E}_=—g- and P(’F) ==

s :
4
T 17
A8y 2L
5 . (B) 5
3 : |
1S e (D) None of these

-‘ﬁmg@aﬁ%w% aﬂ%wma@meﬁwmaﬂwwéﬁqﬁ

BIDE|
1 5
(A) = - S
2 B 2
o
o) f S
e Sy (D) e

3231

, then PIEV F)

1

Two dic¢ are thrown once: Probability of getting the sum as & prime number is -

L 5
3. (B) 13
1 8
o4 D"
(€) 4 (D) 36'.

' Hﬁ‘ﬂﬁﬁqAﬁ4W% aaﬂ%wgaﬁfeﬁrm% e

2 If set A has 4 elements th@ number of subsets is .......... i

tanlng Eﬁr TTFF%
The value of tan—— is .x=2%.......
Qﬁ'nC6=”C4,E-[\[nEﬁ[HH%- ....... odead |

if ¥ CG "C,, then the valueof n is .

%@r 3x—-4y+ 10 = oaﬁ‘i EER G 4/3%[
The slope of the line 3x - 4y + 10 =0is 4/3.

3231 -
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L 17. A% 10 wEme & ureE. Rreas 2.5@@%?%11@1%@%@@,&%

A e S5 8 s (&)
The Standard Deviation of 10 nUmberq is 2.5. If each number is doubled, then
its S. D. is 5. _ ' (True/False)
x—zy)“"%m‘rﬁa“rmqamﬁaﬁﬁ e ’

Find 4th term of the expansmn of (x- 2y)6

79T & 19 mzomﬁmwmaféanmﬁﬁmﬁ% #Wﬁﬁw% Q%ﬁaﬁiﬁﬂ?m)
_ m@%ﬁﬁ(nlmmw%wﬁuﬁ% aa?wza-s:(m (B C)@T[D)ﬁﬁw

i

Question Numbers 19 and 20 are Assertion and Reason based. Two statements are

given, one labelled Assertmn (A) and the other is labelled Reason (R). Select the
correct answer from the codes (A (A), (B), (C) and (D) given below :

19.

aﬁﬁiﬂﬁm) ui%ag?ﬂsﬁm TﬁsgaﬁTSnTﬁ'llemfr% WSUTH
gl e 42 2l . ¢ i 1

G (R.) n(A U B) = n(A) + n(B) - n(An B)

(A) . W(A)@ﬂ?ﬁﬂ% R)aﬁrﬂél%‘eﬂ?a%(m eﬁ?ﬁ%ﬁ(A aﬁaﬁm%
(B) ¥R A)Gﬂ'{ﬁiﬁ(R)ﬁﬂﬁ% tr{——g;aa% (R), aﬁwmaﬁﬂéa@rﬁﬁ%n

C(C) e (A) T ¥ SR (R) TR ¥
(D) IR (A) TEId B ST a% (R) T8I B

Assertion (A) : If S and T are two sets such that S has 21 éleménts T has 32
' elements and S N T has 11 elements then S uT W1Il have 42
elements ;

Reason (R): n(Au B)= n(A) + n(B) - n(An B)
. (A) Both. Assertion (A) and Reason (R) are true and Reason (R) is ‘correct

3231

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct
explananon of Assertion (A).

(C) Assertion (A) is true.and Reason (R) is false.

(D) Assertion (A) is false and Reason (R) is true.

P.T.O.
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Assertion (A) ;' If z =

i | 3231

- IR (A) : AR 2 2+3‘a‘f1z|—1 | | 1

ﬁ?‘g(R):z§=|z|'2 | |

| SRR (A) O (R) RT A ¥ O A (R), AR (A) @ e @ @
(B) SRR (A) iR 0% (R) a1 @@l ¥, oty 7% (R), W(A)ﬁﬂﬁmﬁﬁ%l
(C) e (A) T ¥ e @ (R) T 2 /

(D) SRHA (A) T & S T (R) W 1

2+ 31

hen |z| =1

Reason (R) ‘22 =|2 |2

{A) Both Assertlon (A) and Reason (R) are true and Reason (R) is correct
‘explanation of Assertion (A).

(B) Both Assertron (A) and Reason (R) are true, but Reason (R) is not correct
explanatlon of Assertion (A)

(C) _-Assertlon (A) is true and Reason (R) is false

(D) Assertlon (A) is false and Reason (R) is true.

qug -

SECTION-B

Ccod ™ o E— -'—sin E.—)c sin(i—y}zsin{t+1'
cos Z—;c cos 4 y : s 4 X +Yy)
cos[—}.,— x] cos[% - y] —'-sin[% - x] sin[g— - y] = sin(x + y)

Prove that :
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- SYdr
_ ' OR ' A i

g9z 1% . | "
sin 75° + cos 75° = —
Show that : 2,
sin 75°+ cos 7 —ﬁ.
_ V2

22 ot & --’s?@s X) 3 x % awdtw AW & R g HRE 2

S

Solve the iﬁequal'ity S[XS__?) < '5(23_ %) for real val.ues of x'.

23 MONDAY%{%aaﬁwmaﬂ%aéawaﬁﬁﬁﬁsaﬁamaﬂﬁwmﬁ%? 2
(maﬁﬁﬁ?ehawmmraﬁammﬁmaﬁ)

How m'anyl words '_with or Without meaning can be made from the letters of the

word MONDAY ? - . ‘(Assuming that no letter is repeated)
OR
gﬁﬂf@lﬁloﬁgﬁ@ﬁﬁ:ﬁﬁﬁmﬁwm%? g | ) 2

How many chords can be drawn through 10 points on a mrc:le ?

24. awq@aﬁ%maﬂtfmmwmw 20 R 16 ¥ FEA s AT 2

Arithmetic and Geometric means of two positive numbers are 20 and 16

4

respectively. Find the numbers.

| Ry B
25. (3-%} F TR § HeF I8 ;i o 2
x x . .

i 2 x\°
Find the middle term in the expansion of [;_EJ ¢

3231 i T2
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| | SECTION - C
26, Yol fBxty= 190K xr By =1 B dAmAT W AW 3
Find the angle between the lines ﬁx+ y=1 ar_l_d x+ 3y = 1. |
~ OR

sﬁéooaﬁ?[z 5)%gaﬁar%maawaﬁamaﬁﬁﬁmaﬁmym€n 3

' Find the equation -of parabola W’thh passes through {2 5) and axis along 1

y-axis and vertex (0, O) . ' gl Vi oy i
& f= (0, 0), (2; 3, 0, 1), (-1, -3} T z > 2 T ¥ fig = ax + b adlbez
’ ﬁa@?bﬂ'wmﬁi e SR

Let = {(1, 1) (2, 3), (0, -1), (-1, =3); be a functmn ‘defined z to z and given by~

flg=ax+b, for some mtegers a and b. Find the value of a and b.

.«

- 28. miﬁﬁq .' ; g : _ 3

sin3x—sinx :
e =2sInx
- cos® x—-sin” x
- Prove that :'
| sinSx—Sinx a5
5 =5 =2sinx
COoS™ X —Sin X _
29. o A 25,22, 19, .o B 0 T T AT 116 %, @ n® 49 T R 3
If sum of n terms of A.P. 25, 22, 19, ........ is 116. Find n.
ST
| "OR |
9t 0.15, 0.015, 0.0015, . @ TR 10 R AN S B 5

Find the sum of first 10 terms of the progression 0.15, 0.015, 0.0015, ....... ‘
3231
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307 T T 100 Rt 3 40 ok 60 & 3 Fmor § g 7y 3,

g g9 AT CERE
ﬁl,ooﬁmﬁﬁﬁa,a_mmﬁ; AL

3
(1) '@qﬁ@ﬁﬁ?mmﬁﬁ?n

i) A Ry et

Out of 100 students, two sections of same class 40 and 60 are formed. If you
and your friend are among the 100 students, find the probability that :

(1) yoﬁ both are in the same section.
“(ii) you both are in the differént 'sccticin's.

31. X245 B S x S T W RS 4w

3
Find derivative of x2 +5 w.r.t. xby firsf principles..
ww-g
SECTION - D
32 T 2cos2x+3sinx =0 H T &, A AWH & F AW 5
-~ Find the principal 's'qlthibn" and general solution of the equation
2cos? x+3sinx=0. : '
LEH)
| _ OR
e g 5
 cos? x fcosz{x +~73£) + cosz(x —%] =5
Prove that :

By o] woon =l |2
08" Xt o3 [x+3] =175

a1 P.T.O.
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33, ST w wiER T B R g o - & ol g (4, 3) ST (-1, 4)
{ oI BN g B Ieheaar A F Bl | .
Find the equation of ellipse with major axis along x-axis and passing through
the points (4, 3) and (-1, 4). Also find its eccentricity.

. _ OR -
% APOR ® P2a, 1, 6), Q(-4, 3b, 40)@112(8 14, 2c %aﬂrﬁﬂﬁﬂm
(centro:d)ﬁﬁﬁ'_g% ar a, b cwmmamﬁﬂm ﬁﬁﬁﬂﬁﬂeﬁﬁmﬁm
Al ) 5

f origm' is the centroid of the triangle PQR with vertices P2aq, 1, 6),
- Q(-4, 3b, -10) and R(8, 14, 2¢), then find the values of @, b and ¢. Also find the
length of its sides. '

B4. Hﬁmwl%n,én@?mqﬁwﬁhmﬂ: sl,sze?hcssé"r,%?rfa@ﬁ: 5

S3=3(S2-S1)
If sum of n, 21’1 and 3n tcrrns of A. P. are Si1, S2 and Sa respectwely Show
that :
Sz = 3(S2- S1)
Y4
OR
qﬁabceﬂtdgﬂﬁﬁ'{%ﬁﬁé’fﬁrﬁt@m I "

(a +b2 +c2 )(b2+c +d? )*{ab+bc+cd)

If a, b, cand d are in G. P., show that :

(@* +b? +<22)(b2 be® +4:712)=(mv.b-&-boc:+<:~¢:~l)2

3231
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35. fiftiiad arell a1 e ot et s iR - =

R (cm) |70-75 | 75-80 80-85 | 85-90 | 90-95|95-100| 100-105 105-110
qeH B oHE| 3 4 | 7

12 |15 |9 6 4

Find mean and variance of the following table : -

Height in_ 70-75| 75-80 |80-85{ 85-90 | 90-95 | 95-100| 100-105 | 105-110

cm
No.of | 3 | 4 | 7 12 [-15 9 6 4
Children ' o By
T
OR

T fa@mdt ¥ 100 %eel # W ofw ymw R (S.D.) HAW: 40 @) 5.1 Frem @@

aﬁﬁmgaﬁﬁswﬁﬂﬁﬁm%wmwsommﬁﬁww T/ A AR
_mﬁa—ﬁaﬁfﬁrﬁm 5

The M_ea’n and' S. D. of 100 observation were calculated as ‘40 and 5.1

- respectively. The student took by mistake S0 instead of 40 for one observation.
Find correct Mean and Standard Deviation (S. D.).

s -¢
. SECTION-E

36 i RY A RE ¥ P, b) 39 Fraeh Bear 1 R &% 0, W e B o R mr & &

ZAOP = x ¥4 & 319 6% MR W = uefi & Sa i : 4
e g |
afb)'
I
X' € !/”M A)X
: RN
Y.‘

3231 | - P.T.O.
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(i) q&a:?ﬁb:%,axﬁw-ﬁﬂ@l
(i) qﬁx=%,ﬁ?ginxﬂﬂﬁaﬁﬁﬂi
i) 7% sinx =~ o cosx=2, & 7 oM T wEA A 7

(iv) @R Hﬁ,,ﬁl'mﬁ‘f FT 0T IR

Consider the information given below. Let P{a, b) be any point on the circle of

radius 1 with centre at O. It is given that ZAOP = x radians. Now answer the

questions based on the figure :

Y
T~
ola, b)
/ .
[ %f//é
X: i N /17’,‘« AA
< ! M 7%
: b
Y!

() Ifa =-—‘/2-§—_ and b =

L]

, find the value of x.

|

i) If x= gg-,then find sin x.

=

(iii) If sinx =% and cosx = % , do you agree with the result. |

(iv) If you do not agree, give reason of your disagreement.
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37. qaswﬁﬁzgﬁhﬁaﬂﬁr%qﬁaﬂﬁﬁaﬁqu}%c{x)ﬂmwoooeﬁﬂ%mzlﬁ
% R(Y & R(x) = 60x + 2000, & x T8 T HA 3 wew 2, & fr st & o

AT ' | - 4
() FH F BT R g o e 3o 7 5 @ A 7

(i) 10,000 Bo AT 1 ey FAt % o et R = =73 7

In a factory chairs are manufactured. -.The cost function is given by
c(x) = 20x + 4000 and received revenue R(x) from sale is R(x) = 60x + 2000,

where x is the number of chairs produced. On the basis of these informations

answer the follbwing questions :

() ~How many chairs at least must be produce to make some profit ?

ﬁi) To make a pr@fit of Rs. 10,000 or more how man.y.chairs‘ should be made ?
38. ﬁﬁﬁﬁaﬁ@ﬁmwwnﬁa&ﬁw% e § 7 e £ A X B & TR

g @& A 9l B & FEai® (100, 300) $X (400, 700) ¥ IRl e F & W ¥ @R
YR X 7 9991 & I i | 4

0 IR

(i) wnﬁzﬁrwﬂwmﬁﬁm
uﬁmaﬁwﬁfzsm’r/w% mmﬁaﬁﬁﬂﬁmAﬁBwaﬁﬁeﬁm%

(i)
fEFa:IT T fern ?

P, T. 0,
3231
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In the given figure a ship is sailing aloncr the line shown in the figure. In its

route it passes through two islands A and B whose coordinates are (100, 300)
and (400, 700). Distances are in km. On the basis of the given data answer

the following questions :

(i) Find the equatlon of the path

(i) If the sh1p is sailing at the speed 25 km/hr find how much time it took
from Island A to B ?

3231



